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QUESTION 1

Whyshould you avoid using Boolean data types as a distribution key for a table ? 

A. Table will not join. 

B. Table will not broadcast. 

C. Table is likely to be skewed. 

D. Table is likely to be evenly spread across data slices. 

Correct Answer: C 

 

QUESTION 2

Which statement is true about a simple load using external tables? 

A. The load can be configured to automatically continue toload if the S-Blade resets or fails. 

B. The load can be configured to automatically create a backup file of the table being loaded. 

C. The load can be configured to automatically create a duplicate copy of the table being loaded. 

D. The load can be configured to automatically remove duplicate rows from the table being loaded. 

Correct Answer: A 

 

QUESTION 3

When is the ToplogyImbalance event triggered? 

A. When a SAS switch has failed. 

B. When the path the path between an S-Blade and its disks has failed. 

C. When a disk enclosure\\'s voltage sensor is reading outside the nominal range. 

D. When an S-Blade has ownership of more dataslices than is optimal (usually following a disk replacement). 

Correct Answer: D 

 

QUESTION 4

An ETL/ODBC application is inserting 1 million records in a single transaction against the PureData 

System for Analytics. 1 million individual INSERT SQL statements are generated. 

What can make this faster? 
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A. Use a COPY command. 

B. Use an EXTERNAL TABLE. 

C. Increase the Socket Buffer Size. 

D. Set the COMMIT interval to 10,000. 

Correct Answer: B 

 

QUESTION 5

With LDAP enabled, which of the followingis verified against an LDAP server? 

A. Database user ADMIN privileges. 

B. Database user SELECT privileges. 

C. Database user GROUP authentication. 

D. Database user password authentication. 

Correct Answer: D 
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